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General Instructions :

(V)
(ii)

(i11)

(iv)

(v)
(vi)

(vit)

All questions are compulsory.

Questions number 1 to 5 are very. short answer questions and carry
1 mark each.

Questions number 6 to 10 are short answer questions and carry 2 marks
each.

Questions number 11 to 22 are also short answer questions and carry
3 marks each.

Question number 23 is a value based question and carry 4 marks.

Questions number 24 to 26 are long answer questions and carry 5 marks
each.

Use log tables, if necessary. Use of calculators is not allowed.
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1. TR h fhegl Q1 STFEITIST % g [rgT | 1

Write the formulae of any two oxoacids of sulphur.

2. fouw Aifes o1 g g f.uH. am fafem 1
CH, - CH - CH, - O - CH, - CHj

|
CH,

Write the IUPAC name of the given compound :

CH3—(|3H—CH2—O—CH2—CH3

CH,
3.  HYg % TR T Tl ¢ 1 ST AT & Th Seel 4 9l § | T ? 1
A delta is formed at the meeting point of sea water and river water.
Why ?
4. TfaRad 3@ & @ wF Sy1 fufshan Afees diear & s 1

CH; - CH,- CH,—Br 3R CH;- CH-CH,4

|
Br

Which would undergo Sy1 reaction faster in the following pair :

CH3 - CH2 - CHz -~ Br and CH3 —CH - CH3

|
Br

5. T ANh I T F1 § EH Y TF cep T oA 8 AR X o T
TheTehd Rt 1 2/3 Wt B 8 2 1

What is the formula of a compound in which the element Y forms ccp
lattice and atoms of X occupy 2/31d of tetrahedral voids ?

6. EHTISl IR UfFeHTST o W & 19 Ush THMET 3T Tsh A fafgu | 2

Write one similarity and one difference between the chemistry of
lanthanoids and that of actinoids.
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[Co(NH;)sCl]2+

o o 0

(i) FfRad S @1 9 fafaw :
qrefirm 2eraetrseiehare(1D)

(1) Write down the IUPAC name of the following complex :
[Co(NHj)ClI2+

(11) Write the formula for the following complex :

Potassium tetrachloridonickelate(II)

8. T=fafea sifufsmmsti § St stfirerres atevas 8, 3= fafau .
@  CH,=CH-CH,0H — CH, = CH - CHO
() CHg- COOH —’— CH,- CONH,

AYAT

frfaRaa Afiepl 1 376 FiGe Uued & Sgd 8T %A % STMUR W =afed
i

(i)  CHZCOCHg, CzH,COCH,; CH,CHO
(iRl deherm fufshan & ufa srfufsramsfierar)
(ii) Cl-CH,-COOH, F - CH, - COOH, CH; - COOH (37{1¥ =¥a&ER)

Write the reagents required in the following reactions :
(1) CH, = CH - CH,0OH 2, CH, = CH - CHO

(i) CHy-COOH — CH4 - CONH,
OR

Arrange the following compounds in increasing order of their property as
indicated :

(1) CH3;COCH;, CcH;COCH3, CH3CHO
(reactivity towards nucleophilic addition reaction)

(i) Cl-CH,-COOH, F -CH, - COOH, CHg - COOH (acidic character)
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9. @ X ﬁ;%%Bééb-&@%@St’o" %ank Soétware S 9 R | T

e e frmafra TR I o el 2 2 g9 X 3R ga Y&

e o aTomE | o119 e gftgdd Ed 8 2
(i) oI BT 8 JI9 g9 Wh hINeRT ol I (3T WEH foerq) ¥ w@d 8 2
R T | 2
1) On mixing liquid X and liquid Y, volume of the resulting solution

decreases. What type of deviation from Raoult’s law is shown by
the resulting solution ? What change in temperature would you
observe after mixing liquids X and Y ?

(ii)) What happens when we place the blood cell in water (hypotonic
solution) ? Give reason.

10. <& CuSO, & faerm § & 2 A i forpq um yafga. 1 St B, a@f hellg W
1-27 g I T B T S T0F AT 2, ITeh] THeheid iU |
(Cu T HIeR geIHH = 63-5 g mol~1, 1 F = 96500 C mol™1) 2

Calculate the time to deposit 1-:27 g of copper at cathode when a current
of 2 A was passed through the solution of CuSO,.

(Molar mass of Cu = 63-5 g mol™1, 1 F =96500 C mol1)

11. 200 g ST | AaTSIAed foretar &1 10 g =ieteht Ueh foae™ sHm=n a8 | 308 K
W 3GHT 91 W 31-84 mm Hg B | Taed 1 Ao’ g9 Uiehfad hife |

(g A T 308 KT a1 3« = 32 mm Hg) 3

A solution is prepared by dissolving 10 g of non-volatile solute in 200 g
of water. It has a vapour pressure of 31-84 mm Hg at 308 K. Calculate
the molar mass of the solute.

(Vapour pressure of pure water at 308 K = 32 mm Hg)

12. () 3= Ygal a i & U e % foe St afesw $i fafa wm &
AT ], 3HhT 1 TRy |
(i) M & ko F Si0, hI 1 yfirehr et 7 2
(iii) 3TN e 5hH H 3TaHh <hl o1 YHeRT BT © 2 3

1) Name the method of refining to obtain silicon of high purity.

(i) ~ What is the role of SiO, in the extraction of copper ?

(iii)) What is the role of depressants in froth floatation process ?
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fAfgd § 9 hH-91 Th A IHehss @ :

W, Hleed, %aed, T
A & o-rfaed 3T p-ielies Sie et & o U @ fofau |
et By, 1 &l @ g arell Jfm &1 AW fafew |

Which one of the following is a polysaccharide :
starch, maltose, fructose, glucose

Write one difference between o-helix and p-pleated sheet
structures of protein.

Write the name of the disease caused by the deficiency of vitamin B,.

Hrdd  [Cr(Hy0)glCly g fohE Yehi <hl EHTEzEdT fe@ms St g 2

Ife A, > P & at Topeat & faga & ongr W d4 e & fau
oI ek fa=amg ferfa |

[CoF]3~ 1 TR I I&h Heh{UT eeer feffieay |
(Co =T TTHTY] SHHT = 27)
What type of isomerism is shown by the complex [Cr(Hy0)g]Clg ?

On the basis of crystal field theory, write the electronic
configuration for d4 ion if A, > P.

Write the hybridization and shape of [CoFg] 3,
(Atomic number of Co = 27)

13. @
(ii)
(iii)
1)
(ii)
(iii)

14. (1)
(ii)
(iii)
(i)
(ii)
(iii)

15. IHI

(i)
(i1)
(iii)

56/1/RU

Rgd ®9Ta0T 8 fohT ST Hehd ®

el 0 S i
TN FT 2 FARRHER
TR = 7

YT
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T 311 3 5
(i)  FARSE Bl Cly/FeCly o T1Y I=THRA foRaT ST 3,
(i) IS FAES H AgNO, o €Y IATNG [hal ST 3,

(iii)  2-5NHIUST I Ueohigicl! KOH < H1Y IU=TIT fohdm STdT 8 2
AU I o U § TR GHIRN i fafgu | 3

How can the following conversions be carried out :
(1) Aniline to bromobenzene
(ii))  Chlorobenzene to 2-chloroacetophenone
(iii)  Chloroethane to butane

OR
What happens when
1) chlorobenzene is treated with Clz/ FeCls,
(ii))  ethyl chloride is treated with AgNO,,

(iii) 2-bromopentane is treated with alcoholic KOH ?

Write the chemical equations in support of your answer.

16. ﬁqmam%wmwﬁmaﬁﬁq
Xt Y™ Xt Yy X*
Y O Y Xt Y~
Xt Y- Xt O X*
Y Xt Y Xt Y™
frfafed wei & s Y 3
() 39w QY WEHiRwdE (iskraifis) & @1 1wt

(3-=igfRaniifes) |
(i) 39 YR % ¢ &l Fp8 95  for@d B 2 T Aifies &1 g dfse s
39 YR I Y ST 3 |

(iii) 39 YN & TN ¥ fhted & Odcd I -1 IS 9Sdl g ?
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Xt 'y Xty xt
Y- O Y Xt Y™
Xty Xt O xt*
Y Xt Y Xt Y™

Answer the following questions :
(1) Is the above defect stoichiometric or non-stoichiometric ?

(i1)  Write the term used for this type of defect. Give an example of the
compound which shows this type of defect.

(iii) How does this defect affect the density of the crystal ?

17. 25 x 1074 M HHIgH 37 hl Ieiehdl 5-25'x 1072 S'em=1 & | SThl HITR
ITAehdT 3 fors-amn +1 gftesfora s |

fear w2 A0HY) = 349-5 S ecm?2 mol—1 3 A9(HCOO) = 50-5 S em? mol 1.

Conductivity of 2:5 x 10~* M methanoic acid is 525 x 10° S em™1.
Calculate its molar conductivity and degree of dissociation.

Given : A0(H*) = 3495 S em2 mol~! ‘and A°(HCOO™) = 50-5 S em? mol1.

18.  Hifeh-MN0T 3T THHHH-JY0T < 1= i I 7 fafay |

Write any three differences between Physisorption and Chemisorption.

19. f=fafgd & fou e & .
()  HAATA il e HHTA 31feres eflT B |

(i) Ucwhiglell # C— O — H TS HIv Iqshaiehid shivT (109°28") =i T0&T
AT FH 2 |

(iii) (CHg)3C—O0—CHs, HI % @ ANl & W (CHy)3C -1 3R
CHg - OH & 3cd1¢ o &9 § <aTl g 4 T (CHg)3C — OH 3R CHg - L.
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Give reasons forthe following :

(1) Phenol is more acidic than methanol.

(ii) The C—-O—-H bond angle in alcohols is slightly less than the
tetrahedral angle (109°28").

(iii) (CH3)3C — O —CHj3 on reaction with HI gives (CH3)3C -1 and
CH3;-OH as the main products and not (CHj3);C - OH and

CH, - L.
20. Tr=fefga sifufshensti o Icargl i IR hifre 3
0 CH3_(|J o H,N-NH, ,
CH,
Gi) C,H,_CH, (a) KMnO, / KOH 4
(b) HF
COOH

Gib) @ Br,/ FeBr, 9

Predict the products of the following reactions :

@ CHp-C=0 HN-NH,
CH,
(i) CgH,—CH, (a) KMnO,/ KOH
(b) H*
COOH

Gib) @ Br,/ FeBr, 9

21. (a) T=faRad s HR0 d §T T A
(i) Cu* A fae=e # o/ B |
(i) EShHUT GTIC Hircrerd HITeh S 7 |
(b) Fr=fefea weieto s gt Hifs
Cr,0> +8H* +3NO, — 3
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22.

23.
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(a)  Account e 1o ng :

(i) Cu'is unstable in an aqueous solution.

(i1) Transition metals form complex compounds.

(b)  Complete the following equation :
Cr,0> +8H* + 3NO, —

el Sgciehl o Tehatehl o AT 3T G i [ARET

G el

(i)  §d1-S

(iii) ST

Write the names and structures of the monomers of the following
polymers :

) Terylene

(ii)) Buna-S

(iii) Neoprene

SaF S § AYEg SR AaHe (I 6l Sedt e hl @R, Th UiHg
el o TIRaS 4t SISt 4 Tk HEAR S A fohan fSraw s fiifeuat sk
Tt o ATal-fel s wta fear | ag fo foen mn R et # w8 g
@M 61 T ¢ 1 AU SN EEIaes aequ S8 {9, T, g4, 3G Iy
HE N | I8 a8 ft fof forn for wpatt ®§ U9 wra-whia <l vaTaelt & T
S I YT TS BT AR M A €9 d HAAT AW | B: HE
qaTd, # FAESr 7 SR TRal H TR e weu wUE dR Sl
ey | TUH U™ IR TR |

Sk T i gent freferfiaa gt & e @fvr

(i) off F9ST gR fohd oAl (FH-H-HA Q) I YGRIa R T 2

(i) U faeneff & w9 4, 319 3@ fovw 4 8 IrTEhaTr e ?

(i) T SfFeX 6t Terg & fd-sredres (WR-Eiftme) w= =& o =nfge ?
(v) Hbm Ay geret & < Ierew AT |
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Seeing the growing cases of diabetes and depression among young
children, Mr. Chopra, the principal of one reputed school organized a
seminar in which he invited parents and principals. They all resolved
this issue by strictly banning junk food in schools and introducing
healthy snacks and drinks like soup, lassi, milk, etc. in school canteens.
They also decided to make compulsory half an hour of daily physical
activities for the students in the morning assembly. After six months,
Mr. Chopra conducted the health survey in most of the schools and
discovered a tremendous improvement in the health of the students.

After reading the above passage, answer the following questions :
1) What are the values (at least two) displayed by Mr. Chopra ?
(i1)  As a student, how can you spread awareness about this issue ?

(iii) Why should antidepressant drugs not be taken without consulting
a doctor ?

(iv)  Give two examples of artificial sweeteners.

24. (a) frfaRad % foe #rw 39 g v Hifs
(i) HF ¥ HI d% 3Ti1¥ s¥a8R dedl & |
(ii) ;ﬁaﬁmaﬁiw%aﬁawﬁaﬁtwmﬁﬁa@a@w
|
(iii)  TgEISH I=CTRATSS &l Sl B |
(b) Tr=fafga & T Smfgd Hif -
() CIFy
(i) XeF, 5

AT
(1)  TICHIE o1 HIH-AT ITREY (V) Afdfshamsfiar 8 R =i 2
(i) HREHS S TYIH A Tqg I T H hy T @ ?
(iii) Fo o1 ey foered waedt Cl, Y e %7 & | =11 2
(iv) ¥ fosm & e & fu Teari #§ SH-H 3chE T8 &1 3T TR
a1 B ?
(v) TrfaRaa gt o it -

XeF, + PP — 5
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(a)

(b)

(i)
(i1)

(iii)

(iv)

(v)

B365-Question Bank Software
Account e 1o ng :
(1)  Acidic character increases from HF to HI.

(i1) There is a large difference between the melting and boiling
points of oxygen and sulphur.

(iii) Nitrogen does not form pentahalide.
Draw the structures of the following :
(i) ClFg
(i) XeFy
OR
Which allotrope of phosphorus is reactive and why ?

How are the supersonic jet aeroplanes responsible for the depletion
of ozone layer ?

Fo has lower bond dissociation enthalpy than Cl,.'Why ?

Which noble gas is used in filling balloons for meteorological
observations ?

Complete the following equation :

25. 30 g4 C;HgOy o1 T TUHIH Afieh ‘A’ = qIT 3TgaR T Afsha
goft § oreft B | Fraferfea stfifspansti © A, B, €, D 3R E &t wt=Ad fafa

NH, / &1 Br, + NaOH (CH4C0),0
(C,;Hg0,) A CzH,CONH, B
LiAlH,/ 321 Bry(aq)
D E
YT
56/1/RU QB365-QuestiomBank Software




(a)

W%aﬁmg@fs—wﬁ?ﬁww
@ HyPO, + H,0

(i1) CuCN/KCN
(i) H,0
(b) WeiE fqeRm # 376 9d gU &N FAER % %A H EaRgd H
et i
CoHNH,, (CoH),NH, (CoH,)sN
(c) Tmfafaa A & 30 4 @ HH & ol T am= qEEw S
A
CgHs - NH, 3R CzH; - NH - CH, 5

An aromatic compound ‘A’ of molecular formula.C,H;O, undergoes a

series of reactions as shown below. Write the structures of A, B, C, D and
E in the following reactions :

NH,/ heat Br, + NaOH (CH4C0),0
(C,;H0,) A ——— > C,H,CONH, B

LiAlH, / ether Bry(aq)

D E

OR

(a)  Write the structures of main products when benzene diazonium
chloride reacts with the following reagents :

(1) H3P02 + H20
(ii)) CuCN/KCN
(iii) Hy0
(b)  Arrange the following in the increasing order of their basic
character in an aqueous solution :

(c) Give a simple chemical test to distinguish between the following
pair of compounds :
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o
26. S faoa O Afga -39 8 HTeIRgd ITH BT :
t/s 0 10 20
[CH;COOCH; ]/mol L1 0-10 0-05 0-025

(a)

(b)

(a)

(b)

S I "gdl TR T@d g YERIA SINT 6 a8 T oeH (FE1) Jom
whife i arfifshan 2 |

THATAA 10 T 20 hUg o sita MUThAT 6l 37Ed e qiepfard shifrg |
(fezm T ® : log 2 = 0-3010, log 4 = 0-6021)

STUaT
T AT A+ B — P fo, & & 9t 8
T =k [A] [B]?

()  AfC B Aigal AT L &1 A, q1 AR hT T hE Tl
Bt 8 2

(i) ARG A i amn § &1 ar tfufshan 1 et g s gift 2

T T WHIfS I SAMRAT 50% 01 8H H 30 e @it @ | 39 SAfwfshan
T 90% 01 & H S THA AT 7, SR TReha HIMT |

For the hydrolysis of methyl acetate in aqueous solution, the following
results were obtained :

(a)

(b)

56/1/RU

t/s 0 10 20

[CH;COOCH;]/mol L1 0-10 0-05 0-025

Show that it follows pseudo first order reaction, as the
concentration of water remains constant.

Calculate the average rate of reaction between the time interval 10
to 20 seconds.

(Given : log 2 = 0-3010, log 4 = 0-6021)

OR
QB365-QuestionsBank Software
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(a)  For areaction A +% — P, therate is given by
Rate = k [A][B]2

(1) How is the rate of reaction affected if the concentration of B
is doubled ?

(i1) What is the overall order of reaction if A is present in large
excess ?

(b) A first order reaction takes 30 minutes for 50% completion.

Calculate the time required for 90% completion of this reaction.

56/1/RU 0B365-QuestiomsBank Software
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CHEMISTRY MARKING SCHEME

2015
56/1/RU

. NO. Value points MARKS
Q.1 | HySO3 H,S04H,S,05 ,H,SOs (any two formulae) % o+%
Q.2 | 1l-ethoxy-2-methylpropane 1
Q.3 Due to coagulation of colloidal clay particles 1
Q.4 | CHs3-CH(Br)-CHs 1
Q.5 XaY3 1
Q.6 | Similarity : Both show contraction in size /Both show irregularity in their electronic 1

configuration/Both are stable in +3oxidation state (anyone)

Difference :Actinoids are mainly radioactive but lanthanoids are not/ Actinoids show wide range

of oxidation states but lanthanoids do not /Actinoid contraction is greater than lanthanoid 1

contraction. ( any other one similarity and one difference)
Q.7 | (i) Pentaamminechloridocobalt(lll) ion 1

(i) K3[NiClg] 1
Q.8

(i) PCC/Cuat573K 1

(ii) NHs, A (heat) 1

OR

8. (i) CeHsCOCH3< CH3COCHs< CH3CHO 1

(i) CH3COOH<CI-CH,-COOH < F-CH,-COOH 1
Q.9 | (i) Negative deviation ,temperature will increase. Y +%5

(i) Blood cell will swell due to osmosis , water enters into the cell. YtVs
Q.10

Cu” + 2e >Cu

63.5 g Cu is deposited =2x96500 C
1.27 g Cuis deposited =2x96500x1.27/63.5 C =ixt (Q =ixt) 1
t = 2x96500x1.27/63.5x 2 =1930s 1

Or
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by Faraday First law
m =zx i xt
z = atomic mass/valencyxF

1.27 = 63.5x2xt/2x96500

t=1930s 1
Q.11 | p’-p= wgxMsolvent , s =solute 1
p’ M; x Wsolvent
(32-31.84)/32 =10x 18/ Ms x 200 1
M; =180 g/mol 1
Q.12 | (i) Zone refining 1
(ii) SiO, act as flux to remove the impurity of Iron oxide 1
(iii) Depressants prevent one type of sulphide ore forming the froth with air bubbles. 1
Q.13 | (i) Starch. 1
(i) a- Helix polypeptide chains are stabilized by intramolecular H-bonding whereas B- pleated
sheet is stabilized by intermolecular H-bonding. (or any other difference) 1
(iii) Pernicious anaemia 1
Q.14 | (i) Hydration isomerism 1
(ii) Electronic configuration ist2g4/ or by diagram 1
(iii) Hybridization is sp°d® and shape is octahedral. Y+
Q.15 | (i)
NH, NaNO, + HX N,
273278 K 1

Benzene diazonium
halide

+ —

N, X X
- Cu, X,
(where X=Br)

(ii)

QB365-Question Bank Software
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Cl Cl
7 Anhyd. AICI
yd. H
+ HC-C—Cl N CH, 1
i) CH3CH, Cl——%— > CH3CH,CH,CH
)CHsCHCl e 3CHCHLCH;
1
OR
15
(N
(’] Cl I
’ l,-""‘:':_\_ J/"j:x"q,w,ﬂ{ 1. 1
=2 Anhyd. FeCl, T
+ Cl, » ¥ .I\/
A p o
Cl
(ii)
CHsCH,Cl + AgNO, - CHsCH, NO, + AgCl 1
(iii) CH3CH,CH,CH(Br)CH; + KOH (alc.) = CH3CH,CH=CHCH; .
Q.16 | (i) Stoichiometric defect 1
(ii) Schottky defect e.g.NaCl(or any other example) B+¥
(iii) Density of crystal decreases 1
Q17 | A, = 1000 x k Scm’mol™ Y2
M
1000 x5.25 x 1075 5 1
Am = T Scm“mol
1
= 210Scm’mol™
Am) HCOOH =A°HCOO™ + A°H'
(50.5 +349.5) S cm’mol™ = 4005 cm’mol™ A
a = /\m/ /\mo
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a =210/400 = 0.525 1
Q.18 | Physisorption : adsorbate is held by weak van der Waals’ force 1,1,1
non-specific
It forms multimolecular layer
Chemisorption : adsorbate molecules are held by strong forces like a chemical bond
It is specific
It forms unimolecular layer
(or any correct three points)
Q.19 | (i) Phenoxide ion is stabilized by resonance as compared to CH30/ In phenol, oxygen acquires 1
+ve charge due to resonance and releases H* ion easily whereas there is no resonance in
methanol.
(ii) Due to lone pair- lone pair repulsion on oxygen. 1
(iii) (CHs)sC"is 3° carbo-cation which is more stable than CH;" for Sy1 reaction. 1
Q.20 . 1+1+1
COOH
©/EEJ()H
Br
i) (CH3),C= N-NH, i) / benzoic acid iiii) ;
/ m-bromobenzoic acid
Q.21 | (a)
(i) Because Cu® undergoes disproportionation as 2Cu” = Cu + Cu®* 1
(ii) Because of small size of metal, high ionic charge and availability of vacant d —orbital. 1
(b) Cr,0,% + 8H' + 3NO, = 2Cr** + 3NO5; + 4H,0 (Balanced equation only) 1
Q.22 | (i) ethylene glycol HO-CH,-CH,-OH V2 +%2
HOOC—_H— COOH
Terephthalic acid
(ii) 1,3- butadiene CH,=CH-CH=CH,
CH = CH, % o+%
Styrene
(iii) Chloroprene CH,=C(Cl)-CH=CH, Y %
(Note: Half mark for name/s and half mark for structure/s in each case) 2,72
Q.23 | (i) Social awareness ,Health conscious, Caring , empathy, concern .(or any other two values) Y, Vs
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(ii) Cartoon display / street display/poster making (or any other correct answer) 1
(iii) Wrong choice and over dose may be harmful. 1
(iv) Saccharin , Aspartame (or any other example) Yo+ %
Q.24 | (a) (i) Due to decrease in bond dissociation enthalpy from HF to HI, there is an increase in acidic 1
character observed. 1
(i))Oxygen exists as diatomic O, molecule while sulphur as polyatomic Sg
(iii)Due to non- availability of d orbitals 1
(b)
F
—iC] .
: \ 1+1
F
i) ii)
24 OR
. . — . Yo, %
(i) White Phosphorus, because it is less stable due to angular strain 1
(ii)Nitrogen oxides emitted by supersonic jet planes are responsible for depletion of ozone layer.
Or NO+0s3 - NO,+ O,
(iii)due to small size of F, large inter electronic repulsion / electron- electron repulsion among the | 1
lone pairs of fluorine
(iv)Helium 1
(v) XeF, + PFs > [XeF]" [PFe] 1
Q.25
NH,
©/{_. OOH CH,— T] — ﬁ_ CH, 1 each
A= B= c= H O
NH,
Br Br
MH,
D= E= Br
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OR
25
OH
CN
@ @ 1'1'1
i) @ i) i)
1
(b) C2HsNH2<(CyHs)sN < (CaHs),NH
(c) Add CHCI5 and alc KOH , CgHs-NH; gives foul smell of isocyanide whereas C¢Hs-NH-CHs does 1
not ( or any other correct test)
Q.26 | (a) [A]o =0.10 mol/L [A] =0.05 mol/L attimet=10s
k = 2.303 log[ Al
t [A] %
k=2.303 log0.10
10s 0.05
k =0.0693s™ 1
t =20s
k=2.303 log[ Ao]
t [A]
k=2.303 log0.10
20s 0.025
k =0.0693s™ 1
As the rate constant is same so it follows pseudo first order reaction. y
(b) Average rate of reaction = - A[R]/ At y
=-[0.025-0.05/20 - 10] y
1

= 0.0025 mol L'!s?
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26

OR
(a)

(i) Rate of reaction becomes 4 times 1
(ii) Over all order of reaction =2 1

(b) ty= 0.693
k

30min =0.693
k
k = 0.0231min™

k=2.303 log[Ao]
t [A]

t= _2.303log 100
0.0231 10

t= 2.303min
0.0231

t =99.7min
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